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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 5th Semester Examination, 2022  

DSE-P2-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 

 The question paper contains DSE-2A and DSE-2B.
The candidates are required to answer any one from two Courses.  

Candidates should mention it clearly on the Answer Book. 

 DSE-2A 

 usikyh lekt j laLÑfr

 lewg-d
1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12

(d) *laLÑfr* “kCndks vFkZ ds gks \ mnkgj.klfgr Li’V ikuZqgksl~A 
([k) lekt j laLÑfrdks lEcU/k Li’V ikuZqgksl~A 
(x) usikyh lektek izpfyr nqbZoVk yksd fo”oklg:dks mnkgj.k fnuqgksl~A 
(?k) usikyh lektek izpfyr rhuoVk yksdcktkg:dk uke ys[uqgksl~A 
(³) gkezk lektek izpfyr <q³~xkys cusdk NoVk lkexzhg:dk uke ys[uqgksl~A 
 (p) usikyh lektek izpfyr xj-xgukg:dks uke ys[uqgksl~A 

  
 lewg-[k
2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) usikyh yksdcktkA 
([k) usikyh lektek izpfyr rk¡ckys cusdk Hkk¡Mk orZug:A 
(x) usikyh lektek izpfyr <q³xk j ekVkys cusdk lkexzhg:A 
(?k) usikyh [kkuikudk egÙo j fo”ks’krkA 
(³) usikyh tuthouek ck¡lys cusdk lkexzhg:A 
(p) lektdks vFkZ j ifjHkk’kkA 

   
 lewg-x
3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) lekt j laLÑfrdks vFkZ Li’V iknSZ usikyh lektdks ewyHkwr lkaLÑfrd oSf”k’V~;g: 
dsykmuqgksl~A 

 ([k) usikyh pkM-ioZ j jhfr-fFkfrckjs ,mVk xgfdyks ys[k ys[uqgksl~A 
(x) usikyh lektek izpfyr gkr-gfr;kj ,oe~ f”kYi “kSyhckjs ,mVk ys[k r;kj ikuZqgksl~A 
(?k) lekt] laLÑfr j lH;rkdk vUrjlEcU/kckjs foLr`r NyQy xuZqgksl~A 
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 DSE-2B 

 “kks/ki= ,oe~ ifj;kstuk i= 
 lewg-d

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12

(d) “kks/kdks mÌs”; ds gks \ Li’V ikuZqgksl~A 
([k) iqLrdky; dk;Z HkUukys ds cqf>UN \ Li’V ikuZqgksl~A 
(x) “kks/kek {ks=dk;ZA 
(?k) ifj;kstuk i= HkUukys ds cqf>UN \ Li’V ikuZqgksl~A 
(³) “kks/kdk {ks=dk;Zek vkbiusZ rhuoVk leL;kg: crkmuqgksl~A 
(p) “kks/kdk;Z xnkZ pkfgus mi;ksxh midj.kg: ds ds gqu~ \ 

  

 lewg-[k

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) “kks/ki=ek Hkkogj.kA 

([k) “kks/k dk;Zdk pqukSrhA 

(x) “kks/kdks fo’k; p;u j rF; fo”ys’k.kA 

(?k) lkfgfR;d “kks/kdks Hkk’kkA 

(³) “kks/ki=dks Lo:iA 

(p) ifj;kstuk i= ys[ku fof/kA 
   

 lewg-x

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) “kks/kdk Lo:i fpukm¡nS ;ldk fo”ks’krkckjs ppkZ xuZqgksl~A 

([k) “kks/kdks mÌs”;] iz;kstu j izdkjckjs ,mVk ys[k r;kj ikuZqgksl~A 
(x) “kks/kdks vFkZ j ifjHkk’kk fn¡nS “kks/kdk Hkk’kkckjs ,mVk xgfdyks ys[k ys[uqgksl~A 

(?k) “kks/ki= ys[ku fof/kckjs vk¶uks v/;;u izLrqr xuZqgksl~A 
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